CMS, 13 TeV, Ungroomed jet mass m,, (pr > 1300 GeV)

3 C T ‘ T T ‘ T 1T ‘ T 1T ‘ T 1T ‘ T 1T ‘ T 1T 173
S - =
§§0.007 - —+— Data -
E = —— Sherpa3s ]
ﬁ‘"§0~006 = — — Sherpas-ScaleHT2
0.005 N — Sherpa2 Ahadic =
= Sherpa2 Pythia 3
0.004 [ -
0.003 " E+= =
0.002 % == =
0.001 - —— —f
[ == —
c ‘ ‘ ‘ = | 3
O:H‘HH‘HH‘HHHHHH‘H%‘L
1.4 E- =
1.3 —=
g 1.2 %ﬂ M __| =
S 1.1 l -3
A 1 —— o S D G =
~ === cC A d&n =
O 09 —=
2 0.8 — —
0.7 —
S0E .| | | | | | =
0_5 E 1l | I T I T I T I T I T —
100 200 300 400 500 600 700

3



